

This article was downloaded by: [Universidad de Sevilla]

On: 19 March 2009

Access details: Access Details: [subscription number 908134069]

Publisher Taylor & Francis

Informa Ltd Registered in England and Wales Registered Number: 1072954 Registered office: Mortimer House, 37-41 Mortimer Street, London W1T 3JH, UK



## Communications in Statistics - Theory and Methods

Publication details, including instructions for authors and subscription information:

<http://www.informaworld.com/smpp/title~content=t713597238>

### Characterization Problems Related to the Shepp Property

G. G. Hamedani <sup>a</sup>; Hans Volkmer <sup>b</sup>; Jacek Wesooowski <sup>c</sup>

<sup>a</sup> Department of Mathematics, Statistics, and Computer Science, Marquette University, Milwaukee, Wisconsin, USA <sup>b</sup> Department of Mathematical Sciences, University of Wisconsin-Milwaukee, Milwaukee, Wisconsin, USA <sup>c</sup> Mathematics Institute, Politechnika Warszawska, Warszawa, Poland

Online Publication Date: 01 January 2007

**To cite this Article** Hamedani, G. G., Volkmer, Hans and Wesooowski, Jacek(2007)'Characterization Problems Related to the Shepp Property',Communications in Statistics - Theory and Methods,36:6,1049 — 1057

**To link to this Article:** DOI: 10.1080/03610920601076669

**URL:** <http://dx.doi.org/10.1080/03610920601076669>

PLEASE SCROLL DOWN FOR ARTICLE

Full terms and conditions of use: <http://www.informaworld.com/terms-and-conditions-of-access.pdf>

This article may be used for research, teaching and private study purposes. Any substantial or systematic reproduction, re-distribution, re-selling, loan or sub-licensing, systematic supply or distribution in any form to anyone is expressly forbidden.

The publisher does not give any warranty express or implied or make any representation that the contents will be complete or accurate or up to date. The accuracy of any instructions, formulae and drug doses should be independently verified with primary sources. The publisher shall not be liable for any loss, actions, claims, proceedings, demand or costs or damages whatsoever or howsoever caused arising directly or indirectly in connection with or arising out of the use of this material.

## Distributions and Applications

### Characterization Problems Related to the Shepp Property

G. G. HAMEDANI<sup>1</sup>, HANS VOLKMER<sup>2</sup>, AND  
JACEK WESOŁOWSKI<sup>3</sup>

<sup>1</sup>Department of Mathematics, Statistics, and Computer Science,  
Marquette University, Milwaukee, Wisconsin, USA

<sup>2</sup>Department of Mathematical Sciences, University of  
Wisconsin-Milwaukee, Milwaukee, Wisconsin, USA

<sup>3</sup>Mathematics Institute, Politechnika Warszawska, Warszawa, Poland

*This article studies the relationship between the distribution of  $Z = \frac{2XY}{\sqrt{X^2+Y^2}}$  and the common distribution of  $X, Y$  when  $X, Y$  are i.i.d. random variables. Results concern the identifiability of the distribution of  $Z$  by that of  $X$ , and the possibility that  $Z$  and  $X$  have the same distribution.*

**Keywords** Characterization of distributions; Functional equations for characteristic functions; Normal distribution.

**Mathematics Subject Classification** Primary 62E10; Secondary 60E10.

#### 1. Introduction

Let  $\psi$  be the transformation of the plane into itself that doubles the polar angle  $\theta$ , and keeps the radius  $r$  unchanged, i.e.,  $\psi$  is defined by  $(r, \theta) \rightarrow (r, 2\theta)$ . In terms of the variables  $(x = r \cos(\theta), y = r \sin(\theta))$  we have

$$\psi(x, y) = \left( \frac{x^2 - y^2}{\sqrt{x^2 + y^2}}, \frac{2xy}{\sqrt{x^2 + y^2}} \right),$$

with  $\psi(0, 0) = (0, 0)$  defined by continuity. Let  $(X, Y)$  be a random vector. We use  $\psi$  to define a new random vector  $(W, Z)$  by  $(W, Z) = \psi(X, Y)$ , that is

$$W := \frac{X^2 - Y^2}{\sqrt{X^2 + Y^2}}, \quad Z := \frac{2XY}{\sqrt{X^2 + Y^2}}. \quad (1)$$

Received October 7, 2005; Accepted August 3, 2006

Address correspondence to G. G. Hamedani, Marquette University, Milwaukee, Wisconsin 53201-1881, USA; E-mail: g.hamedani@mu.edu

Shepp (1964) observed that if  $X, Y$  are independent identically distributed (i.i.d.) standard normal ( $\mathcal{N}(0, 1)$ ) random variables (r.v.'s) then  $W, Z$  are also independent standard normal. For future reference we name this fact the Shepp property.

Note that the Shepp property follows easily from the fact that if  $X$  and  $Y$  are i.i.d. standard normal, then the random polar angle  $\Theta$  has a uniform distribution on  $(0, 2\pi)$  and then  $2\Theta(\bmod(2\pi))$  is also uniform in  $(0, 2\pi)$ .

For related converse results see, for instance, Beer and Lukacs (1973), Bansal et al. (1999), and Hamedani and Volkmer (2001). In particular, Bansal et al. (1999) used the fact  $Z$  alone is standard normal to characterize the normal distribution. The proof of their result is based on the observation that

$$\frac{4}{Z^2} = \frac{1}{X^2} + \frac{1}{Y^2}$$

which relates the distribution of  $Z$  to a sum of i.i.d r.v.'s. An investigation of the distribution of  $W$  seems to be more difficult since apparently there is no such a connection. Moreover,  $W$  is defined in terms of squares of  $X$  and  $Y$  only, so there is no way to extract the distribution of  $X$  or  $Y$  from that of  $W$  without additional knowledge.

In Bansal et al. (1999), Corollary 2.4, it is claimed that  $X, Y$  i.i.d. r.v.'s and  $\alpha W + \beta Z \sim N(0, 1)$  for arbitrary and fixed  $\alpha \geq 0, \beta \geq 0, \alpha^2 + \beta^2 = 1$  imply that  $X \sim N(0, 1)$ . In view of the above observation, this statement is false when  $\alpha = 1$ . We conjecture that it is false always except for the case  $\beta = 1$ .

On the other hand, Misiewicz and Wesolowski (2005) have proved recently that, essentially, for any random vector  $(X, Y)$  (the components are not necessarily independent or identically distributed) the distribution of  $(X, Y)$  is invariant under  $\psi$  iff it is rotationally invariant. Note that under additional assumption of independence of  $X$  and  $Y$  it implies that  $X$  and  $Y$  are standard normal. Also, it is shown in that article that independence of  $X$  and  $Y$  and independence of  $W$  and  $Z$ , under some technical smoothness assumptions, imply that  $X$  and  $Y$  are standard normal.

In this article we study properties of  $Z$  alone. In Sec. 2 we present an identifiability result being a straightforward generalization of the main result of Bansal et al. (1999). In Sec. 3, analytical approach is developed which is helpful in studying the structure of the distribution of  $X$  and  $Y$  in more depth. The tools developed in Section 3 are exploited intensively in Sec. 4 where the property of identical distribution of  $X$  and  $Z$  is investigated.

## 2. Identifiability

In this section we prove that any symmetric distribution of  $Z$ , not just the standard normal one, uniquely determines the distribution of the parent variables  $X$  and  $Y$ . Moreover, if the symmetry assumption of the distribution of  $Z$  is dropped, then the distribution of  $X$  is determined by that of  $Z$  up to reflection about zero.

**Theorem 2.1.** *Let  $X$  and  $Y$  be i.i.d. r.v.'s. Then the distribution of  $Z$  determines the distribution of  $X$  up to reflection about 0.*

*Proof.* Let  $U = X^{-2} + Y^{-2}$  if  $XY \neq 0$  and  $U = 0$  if  $XY = 0$ . For any  $t > 0$ ,

$$P(\text{sgn}(XY) = 1, 0 < U < t^2) = P(2/t < Z < \infty) = 1 - F(2/t) \tag{2}$$

and

$$P(\text{sgn}(XY) = -1, 0 < U < t^2) = P(Z < -2/t) = F(-2/t^-), \tag{3}$$

where  $F$  is the distribution function of  $Z$ . Thus the distribution of  $(\text{sgn}(XY), U)I_{\mathbb{R} \setminus \{0\}}(XY)$  is defined in terms of  $F$  ( $I_A$  denotes the indicator function of the set  $A$ ). Consequently, the function

$$h(k, x) = E([\text{sgn}(XY)]^k e^{xU} I_{\mathbb{R} \setminus \{0\}}(XY)), \quad k = 0, 1, \dots; \quad x \leq 0,$$

is uniquely determined by  $F$ . But the independence assumption implies

$$h(k, x) = H(k, x)^2, \tag{4}$$

where

$$H(k, x) := E([\text{sgn}(X)]^k e^{x/X^2} I_{\mathbb{R} \setminus \{0\}}(X)).$$

Thus, for any  $k = 0, 1, \dots, x \leq 0$ , the value of the function  $H(k, x)$  is defined up to a sign. Note that we need to consider only  $k = 0, 1$ , since  $H(0, x)$  is positive, then unique. Since  $H(1, \cdot)$  as a function of  $x$  is analytic for  $x \leq 0$ , it follows that there are only two versions of  $H(1, \cdot)$ , one for  $X$  and the other one for  $-X$ . Moreover,  $H$  determines uniquely the joint distribution of  $(\text{sgn}(X), \exp(-X^{-2}))I_{\mathbb{R} \setminus \{0\}}(X)$  by identification of joint moments. Thus,  $H$  uniquely determines the joint distribution of  $(\text{sgn}(X), |X|)I_{\mathbb{R} \setminus \{0\}}(X)$ . Finally, we conclude that  $(\text{sgn}(X), |X|)I_{\mathbb{R} \setminus \{0\}}(X)$  or  $(\text{sgn}(-X), |-X|)I_{\mathbb{R} \setminus \{0\}}(-X)$  is identified by  $F$ .

Note that

$$P(\text{sgn}(XY) = 0) = P(Z = 0) = F(0) - F(0^-).$$

On the other hand,

$$P(\text{sgn}(XY) = 0) = 2P(X = 0) - (P(X = 0))^2.$$

Consequently,

$$P(X = 0) = 1 - \sqrt{1 - F(0) + F(0^-)}. \tag{5}$$

Finally, we conclude that the distribution of  $(\text{sgn}(X), |X|)$  or  $(\text{sgn}(-X), |-X|)$  is determined by  $F$ , implying that the distribution of  $X$  or  $-X$  is unique.  $\square$

The characterization of the normal law from Bansal et al. (1999), we referred to in Sec. 1, follows now directly from Theorem 2.1.

**Theorem 2.2** (NC1, Bansal et al., 1999). *The random variable  $Z$  has the standard normal distribution iff  $X$  has the standard normal distribution.*

*Proof.* We need to prove sufficiency only. This follows immediately from Theorem 2.1 using the necessity part and the fact that the standard normal distribution is symmetric.  $\square$

It is also an immediate consequence of the following identifiability result which exploits symmetry of  $Z$  additionally.

**Theorem 2.3.** *Let  $X$  and  $Y$  be i.i.d. r.v.'s. If the distribution of  $Z$  is symmetric and has no atom at 0, then it uniquely determines the distribution of  $X$ .*

*Proof.* We assume that  $Z$  is symmetric and use (2) and (3) of the proof of Theorem 2.1. By symmetry it follows that

$$P(\operatorname{sgn}(XY) = 1, U < t^2) = 1 - F(2/t) = P(\operatorname{sgn}(XY) = -1, U < t^2), \quad t > 0. \quad (6)$$

Taking  $t \rightarrow \infty$  in (6), we have  $P(\operatorname{sgn}(XY) = \pm 1) = 1 - F(0) = 1/2$ . Moreover, from (6) it follows that for any  $t > 0$

$$P(U < t^2) = P(\operatorname{sgn}(XY) = 1, U < t^2) + P(\operatorname{sgn}(XY) = -1, U < t^2) = 2(1 - F(2/t)).$$

Thus  $\operatorname{sgn}(XY)$  and  $U$  are independent.

For the function  $h$ , introduced in the proof of Theorem 2.1, this independence property implies  $h(k, x) = h(k, 0)h(0, x)$  for any  $k = 0, 1, \dots, x \leq 0$ . Note that by (5) the distribution of  $X$  also has no atom at 0. Then (4) yields independence of  $\operatorname{sgn}(X)$  and  $|X|$ . Consequently,  $X$  is symmetric. Together with the conclusion of Theorem 2.1 it proves the result.  $\square$

### 3. Analytical Approach

The distribution of  $X$  determines the distribution of  $Z$ . This defines a mapping  $T: \mathcal{M} \rightarrow \mathcal{M}$ , where  $\mathcal{M}$  is the set of all probability measures  $\mu$  on the  $\sigma$ -algebra  $\mathcal{B}$  of Borel subsets of  $\mathbf{R}$  with  $\mu\{0\} = 0$ . (We may also consider measures with  $\mu\{0\} > 0$  but then the following becomes a little more technical.) It means that for any  $B \in \mathcal{B}$

$$T\mu(B) = \mu \times \mu \left( \left\{ (x, y) \in \mathbf{R}^2 : \frac{2xy}{\sqrt{x^2 + y^2}} \in B \right\} \right).$$

We want to study properties of this mapping  $T$ .

If  $X$  is a random variable with symmetric distribution  $\mu \in \mathcal{M}$  then we let  $\mu^\dagger$  be the distribution of  $X^{-2}$ , that is,

$$\mu^\dagger(B) = 2\mu\{x > 0 : x^{-2} \in B\}, \quad B \in \mathcal{B}.$$

Note that  $\mu^\dagger(-\infty, 0] = 0$ . We extend this definition to all finite signed measures  $\mu$  on  $\mathcal{B}$  with  $\mu\{0\} = 0$ . If  $\mu$  has a density  $f: \mathbf{R} \rightarrow \mathbf{R}$ , then  $\mu^\dagger$  has density

$$f^\dagger(u) := \begin{cases} 2u^{-3/2}f(u^{-1/2}) & \text{if } u > 0, \\ 0 & \text{if } u \leq 0. \end{cases}$$

For  $\mu \in \mathcal{M}$ , we introduce their symmetric and anti-symmetric parts

$$\mu_1(B) = \frac{1}{2}(\mu(B) + \mu(-B)), \quad \mu_2(B) = \frac{1}{2}(\mu(B) - \mu(-B)).$$

It is clear that  $\mu_1$  is also a probability measure but, in general,  $\mu_2$  will be a signed measure.

**Theorem 3.1.** *Let  $\nu = T\mu$  with  $\mu \in \mathcal{M}$ . Let  $\phi_j$  be the Fourier transform of  $\mu_j^\dagger$  and  $\psi_j$  the Fourier transform of  $\nu_j^\dagger$ ,  $j = 1, 2$ . Then*

$$\psi_j(4s) = (\phi_j(s))^2 \quad \text{for } \text{Im } s \geq 0, \quad j = 1, 2,$$

where  $\text{Im } s$  denotes the imaginary part of  $s$ .

In particular,  $T\mu = \mu$  if and only if

$$\phi_j(4s) = \phi_j^2(s) \quad \text{for } \text{Im } s \geq 0, \quad j = 1, 2. \tag{7}$$

*Proof.* For  $u > 0$ , let

$$D_u = \{(x, y) : x > 0, y > 0, 2xy > u\sqrt{x^2 + y^2}\},$$

$$E_u = \{(x, y) : x < 0, y > 0, 2xy < -u\sqrt{x^2 + y^2}\}.$$

Then

$$\nu(u, \infty) = \mu \times \mu(D_u \cup (-D_u)),$$

$$\nu(-\infty, -u) = \mu \times \mu(E_u \cup (-E_u)).$$

Note that the symmetric and anti-symmetric parts of  $\mu \times \mu$  are  $\mu_1 \times \mu_1 + \mu_2 \times \mu_2$  and  $\mu_1 \times \mu_2 + \mu_2 \times \mu_1$ , respectively. Therefore, we have

$$\nu(u, \infty) = 2(\mu_1 \times \mu_1 + \mu_2 \times \mu_2)(D_u),$$

$$\nu(-\infty, -u) = 2(\mu_1 \times \mu_1 + \mu_2 \times \mu_2)(E_u)$$

$$= 2(\mu_1 \times \mu_1 - \mu_2 \times \mu_2)(D_u).$$

Adding and subtracting, we obtain

$$\nu_1(u, \infty) = 2(\mu_1 \times \mu_1)(D_u),$$

$$\nu_2(u, \infty) = 2(\mu_2 \times \mu_2)(D_u).$$

Using

$$D_u = \{(x, y) : x, y > 0, x^{-2} + y^{-2} < 4u^{-2}\},$$

we obtain

$$2\nu_j(u, \infty) = (\mu_j^\dagger * \mu_j^\dagger)(-\infty, 4u^{-2}), \quad j = 1, 2,$$

where the asterisk denotes convolution of measures. This implies

$$v_j^\dagger(-\infty, \frac{1}{4}v) = (\mu_j^\dagger * \mu_j^\dagger)(-\infty, v), \quad v > 0, \quad j = 1, 2.$$

Applying the Fourier transform gives the desired formulas.  $\square$

For example, consider the normal distribution  $\mu$  with probability density function (pdf)

$$f(x) = \frac{1}{\sigma\sqrt{2\pi}} \exp\left(-\frac{x^2}{2\sigma^2}\right), \quad \sigma > 0. \quad (8)$$

Then  $\mu_1 = \mu$ ,  $\mu_2 = 0$  and

$$\phi_1(s) = \exp\left(-\frac{1}{\sigma}\sqrt{-2is}\right)$$

which satisfies (7). Therefore,  $T\mu = \mu$  by Theorem 3.1.

**Remark 3.1.** Using the analytical tools developed above we can reprove Theorem 2.1 (under the assumption that  $Z$  has no atom at 0.) Let  $\mu, \rho \in \mathcal{M}$  be such that  $T\mu = T\rho$ . Let  $\phi_j$  be the Fourier transform of  $\mu_j^\dagger$ , and let  $\chi_j$  be the Fourier transform of  $\rho_j^\dagger$ ,  $j = 1, 2$ . By Theorem 3.1, we have  $\phi_j^2(s) = \chi_j^2(s)$  for  $\text{Im } s \geq 0$  and  $j = 1, 2$ . Since  $\phi_j, \chi_j$  are analytic in the half-plane  $\text{Im } s > 0$ , we obtain that  $\phi_j = \chi_j$  or  $\phi_j = -\chi_j$ . If  $j = 1$ , then  $\phi_1(0) = \chi_1(0) = 1$  so  $\phi_1 = \chi_1$ . If  $\phi_2 = \chi_2$ , then  $\mu = \rho$ , and if  $\phi_2 = -\chi_2$ , then  $\mu(B) = \mu_1(B) + \mu_2(B) = \rho_1(B) - \rho_2(B) = \rho(-B)$ .

**Remark 3.2.** If  $T\mu$  is symmetric, then Theorem 3.1 shows that  $\mu$  is symmetric, so  $\mu = \rho$  by Remark 3.1. This gives an alternative proof of Theorem 2.3.

Similarly, using Theorem 3.1 one can prove the following results revealing more about the relations between the distributions of  $Z$  and  $X$ .

**Theorem 3.2.** *Let  $X, Y$  be i.i.d. random variables.*

- (a) *The symmetric part of the distribution of  $X$  determines the symmetric part of the distribution of  $Z$  and conversely.*
- (b) *The anti-symmetric part of the distribution of  $X$  determines the anti-symmetric part of the distribution of  $Z$ . Conversely, the anti-symmetric part of the distribution of  $Z$  determines the anti-symmetric part of the distribution of  $X$  up to reflection about 0.*

#### 4. Additional Results on the Invariance Property

It is interesting to note that there are i.i.d. rv's  $X, Y$  which share their distribution with  $Z$  but which are not normally distributed. For example, let  $\rho \in \mathcal{M}$  be defined by the density

$$g(x) = \begin{cases} 2f(x) & \text{if } x \geq 0 \\ 0 & \text{if } x < 0, \end{cases}$$

where  $f$  is the density (8) of the standard normal measure  $\mu$ . Then  $\rho_1 = \mu$  and  $\rho_2(B) = \mu(B)$  if  $B \subset (0, \infty)$ . Therefore,  $\rho_j^\dagger = \mu^\dagger$  for  $j = 1, 2$  and so  $T\rho = \rho$  by the second part of Theorem 3.1. In other words, if  $X, Y$  are i.i.d. rv's with distribution  $\rho$  then  $Z$  also has distribution  $\rho$ .

In the following theorem we describe all i.i.d. rv's  $X, Y$  which share their distribution with  $Z$ .

**Theorem 4.1.** *Let  $X, Y$  be i.i.d. symmetric rv's. Then  $X$  and  $\frac{2XY}{\sqrt{X^2+Y^2}}$  have the same distribution iff the characteristic function  $\phi$  of  $X^{-2}$  has the form*

$$\ln \phi(s) = \int_0^\infty (e^{isx} - 1) dM(x) \text{ for all } s \in \mathbf{R},$$

where  $\lambda : \mathbf{R} \rightarrow \mathbf{R}$  is left-continuous with period  $\rho = \ln 4$  and

$$M(x) = -\lambda(-\ln x)x^{-1/2}$$

is non decreasing for  $x > 0$ .

*Proof.* Applying Theorem 3.1, our task consists in finding all complex-valued functions  $\phi : \mathbf{R} \rightarrow \mathbf{C}$  with the following properties:

- (A)  $\phi$  is a characteristic function;
- (B)  $\phi(4s) = \phi^2(s)$  for all  $s \in \mathbf{R}$ ;
- (C) the distribution belonging to  $\phi$  is supported on  $[0, \infty)$ .

We will use results due to Lukacs (1970) and Shimizu (1968) to show that  $\phi$  satisfies (A), (B), (C) iff it is of the form given in the theorem. Characteristic functions satisfying (B) are infinitely divisible and thus have a canonical Levy representation. Using this representation, Shimizu (1968) found all characteristic functions  $\phi$  that solve the functional equation  $\phi(4s) = \phi^2(s)$ . Actually, Shimizu (1968) considered a more general functional equation

$$\phi(s) = \phi(a_1s) \dots \phi(a_p s) \phi(-a_{p+1}s) \dots \phi(-a_n s),$$

where  $a_1, \dots, a_n$  lie in  $(0, 1)$ . We set  $p = n = 2$ ,  $a_1 = a_2 = \frac{1}{4}$  to specialize to our equation. Shimizu defines  $\alpha$  as the solution of

$$a_1^\alpha + \dots + a_n^\alpha = 1.$$

In our case, we have  $\alpha = \frac{1}{2}$ . Shimizu showed that  $\phi$  satisfies (A), (B) if and only if

$$\ln \phi(s) = \int_0^\infty (e^{isx} - 1) dM(x) + \int_{-\infty}^0 (e^{isx} - 1) dN(x),$$

where

$$M(x) = -\lambda(-\ln x)x^{-1/2}, \quad x > 0,$$

$$N(x) = \mu(-\ln |x|)|x|^{-1/2}, \quad x < 0,$$



$M$  and  $N$  are non decreasing and  $\lambda, \mu : \mathbf{R} \rightarrow \mathbf{R}$  are left-continuous functions with period  $\rho$ . So far we have used only (A) and (B). It follows from Theorem 11.2.2 in Lukacs (1970) that the distribution corresponding to  $\phi$  is supported in  $[0, \infty)$  (condition (C)) if and only if  $N$  is constant. This gives us the statement of the theorem.  $\square$

Below we present some discussion of the above result.

1. We see that  $M(x) \rightarrow 0$  as  $x \rightarrow \infty$ . Thus,  $M(x) \leq 0$  for all  $x > 0$ . If  $M(x_0) = 0$  for some  $x_0 > 0$  then  $M(x) = 0$  for  $x \geq x_0$  which implies that  $\lambda(u) = 0$  for all  $u \in \mathbf{R}$  and  $M(x) = 0$  for all  $x > 0$ . But then  $\phi(s) = 1$  for all  $s$  and the corresponding distribution is concentrated at 0. All other distributions are supported on  $(0, \infty)$ . If we exclude  $M = 0$  then there is  $\delta > 0$  such that  $\lambda(u) \geq \delta$  for all  $u \in \mathbf{R}$  and  $\lambda(u)$  is of bounded variation over each period. The latter follows from

$$\ln \lambda(u) = -\frac{1}{2}u + \ln(-M(e^{-u})), \quad u \in \mathbf{R}$$

which represents  $\ln \lambda$  as a difference of non decreasing functions.

2. If we choose  $\lambda(u) = c > 0$  constant we obtain

$$\begin{aligned} \ln \phi(s) &= c \int_0^\infty (e^{isx} - 1) d(-x^{-1/2}) \\ &= c \frac{1}{2} \int_0^\infty (e^{isx} - 1) x^{-3/2} dx \\ &= -\sqrt{\sigma} \sqrt{\pi} c \end{aligned}$$

where  $s = i\sigma$ . We obtain the familiar characteristic function

$$\phi(s) = e^{-d\sqrt{\sigma}}, \quad d = c\sqrt{\pi}$$

which leads to the case of normal  $X$  and  $Y$  (see the paragraph preceding Remark 3.1.)

3. A possible nontrivial choice for  $\lambda$  is

$$\lambda(u) = 10 + \sin \frac{2\pi u}{\rho}.$$

One can easily check that the corresponding function  $M$  is non decreasing. However, we do not get an explicit formula for  $\phi$ .

## Acknowledgment

We thank Eric Key for interesting comments regarding the results of Sec 2.

## References

Bansal, N., Hamedani, G. G., Key, E., Volkmer, H., Zhang, H., Behboodian, J. (1999). Some characterizations of the normal distribution. *Statist. Probab. Lett.* 42:393–400.

- Beer, S., Lukacs, E. (1973). Characterizations of the normal distribution by suitable transformations. *J. Appl. Probab.* 10:100–108.
- Hamedani, G. G., Volkmer, H. (2001). Certain characterizations of normal distribution via transformations. *J. Multivariate. Anal.* 77:286–294.
- Lukacs, E. (1970). *Characteristic Functions*. 2nd ed. London: Griffin.
- Misiewicz, J., Wesolowski, J. (2005). Winding and rotating planar probabilities. Preprint, 1–10.
- Shepp, L. (1964). Normal functions of normal random variables. *SIAM Rev.* 6:459–460.
- Shimizu, R. (1968). Characteristic functions satisfying a functional equation (I). *Ann. Inst. Statist. Math.* 20:187–209.